7188 AEZE A
713y AgE e Rt S Y (el - dd
gopzg 22| B3| 2% RESHE Sy Ao 247 Ao | g
A 2,916,201 50,022,581 52,938,782
ETA=S 2,817,749 47,748,682 50,566,431
oLz FT TS 1,808,529 43,322,924 45,131,453
5tEgEAd 110,000 974,803 1,084,803
s Al gy 7 110,000 32,792 142,792
=R o B 110,000 32,792 142,792
1. 7|28 4R 110,000 0 110,000
7F. g A A A E A A 110,000 110,000
1) Al4dn] 50,000 50,000
O RCIR=a 420-03 |12,830,0009 x 14 = 12,830 12,830
) wAd% 420-03 |15,090,0009 x 14 = 15,090 15,090
th YRS 420-03 |14,151,0009 x 0.5 = 7,076 7,076
) SEAA 420-03 [3,660,0009 x 14 = 3,660 3,660
op) Wbk A 420-03 |7,920,0009 x 141 = 7,920 7,920
v A I A 420-03 3,424,000 x 14 = 3,424 3,424
2) BlF ] 60,000 60,000
7H) AP A7 7] GAFE 2]9F) | 430-01 |1,785,0009 X 10%= 17,850 17,850
W) 7 (A9 4F) 430-01 |1,620,0009) x 5% = 8,100 8,100
h) A EE (S| EREQ45) 430-01 |5,718,0009 x5%= 28,590 28,590
2h) el =E (FE A L 2F) 430-01 |1,820,0009 x 3% = 5,460 5,460
THEZ 100,000 1,468,660 1,568,660
FoETRRFAANA 100,000 375,000 475,000
FolEstunSEaA 3} 100,000 375,000 475,000
1. 5S4 100,000 350,000 450,000
7h WS A T 100,000 350,000 450,000
1) A E3lm-2 34 =] A 38,000 215,000 253,000
7H 2EnSHE LAY 620-03 |130,000,0009 — <714>120,000,000¢= 10,000 120,000 130,000
W) TSy dxd 4,000 90,000 94,000
(1) &4 620—-03 |52,000,0009 — <71%>50,000,0008 = 2,000 50,000 52,000
(2) A+ 620-10 |42,000,0009 — <714>40,000,0009= 2,000 40,000 42,000
) v WA 24,000 5,000 29,000
(1) A (ddh 210—06 |7,200,0009 — <71%>4,200,0009 = 3,000 4,200 7,200
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713 AR et A4 9% (9] -
2 o 1=]
gopzg 22| B3| 2% ESIE == RENE 2427 | Agdel | @A
(2) AFA= = 210-07 |435,0009 x 54 x 28] = 4,350 4,350
(3) A& 210-15 |30,0009 % 2507 x 23] = 15,000 15,000
(4) 2] 310-01 |8,0009 % 150 = 1,200 1,200
(5) 7+214] 310-01 |3,0009% 150 = 450 450
9) S E ol £ 44,000 100,000 144,000
1 S gE 210-01 |67,000,0009 — <7]4>55,000,0009)= 12,000 55,000 67,000
) AR (LR 210-06 |46,400,00091 — <7]4>24,000,0009 = 22,400 24,000 46,400
t}) 2] 310-01 |21,600,0009 — <7]%8>12,000,000 9= 9,600 12,000 21,600
3) A AALE WS ALY 18,000 20,000 38,000
71 Ful o] st Eola] 99 18,000 20,000 38,000
(1) A3 210-12 |38,000,0009 — <7]%8>20,000,000 9= 18,000 20,000 38,000
nAZFA 120,658 3,414,725 3,535,383
EREES 120,658 3,408,597 3,529,255
SRT =N R] 57,842 3,244,432 3,302,274
1. FAEA8 A ¢ 57,842 2,917,260 2,975,102
AR )| 3,666 177,312 180,978
1) 29 620-03 |117,347,0009 — <71%>114,752,0009 = 2,595 114,752 117,347
2) AHY 620—-10 |63,631,0009 — <7]4>62,560,000¢1= 1,071 62,560 63,631
U 25w 620—03 ]982,114,000¢ — <714>957,110,0004 = 25,004 957,110 982,114
o}, =8k 14,486 694,668 709,154
1) 39 620-03 |216,462,0009 — <71%>212,324,0009 = 4,138 212,324 216,462
2) A 620—-10 |492,692,0009 — <7]1%>482,344,0009) = 10,348 482,344 492,692
gh 158w 14,686 700,835 715,521
1) 29 620-03 |426,931,0009 — <71%>418,213,0009 = 8,718 418,213 426,931
2) AHY 620-10 |288,590,000¢ — <7]%>282,622,0009 = 5,968 282,622 288,590
st FA A NA 62,816 164,165 226,981
1. g7 FUA| 2 g% 62,816 164,165 226,981
7}, wBF A7) G A 62,816 159,765 222,581
1) 258w 620-04 |65,657,0009 — <7]4>28,649,0009)= 37,008 28,649 65,657
2) F3w 14,960 99,395 114,355
7h AH 620—11 |96,755,0009 — <7]4>81,795,0009)= 14,960 81,795 96,755
3) 158w 10,848 27,721 38,569
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7184 AEFEWSA
AR s B Rt ety S) ks S R (k] - xd9)
2 o 1=]

Hopn f}oj ?};3 fg PRSI CRpE RS 2A4Z7 | A5 3 7
7H =9 620-04 35,954,0009 — <7]14>25,106,0009 = 10,848 25,106 35,954
st A A A LB 481,177 14,676,829 15,158,006
StwgulA A 368,776 6,562,465 6,931,241
tuLgu| R 368,776 6,562,465 6,931,241
1. 7|24y 111,776 6,506,465 6,618,241
7h Sx4 620-02 877,037,0009 — <71%>861,485,0004= 15,552 861,485 877,037
U 258w 620—02 | 4,206,914,0009 — <71%>4,137,631,0009 = 69,283 4,137,631 4,206,914
o} =t 620-02 |1,534,290,0009 - <71%>1,507,349,000¢1= 26,941 1,507,349 1,534,290
2. & 729 u 1Y 257,000 56,000 313,000
7}, G ol AR 257,000 257,000
1) =53 620—04 |239,300,000¢ = 239,300 239,300
2) =& 620-04 17,700,0009= 17,700 17,700
A EHA A X Y 112,401 8,114,364 8,226,765
T AZEATAL 112,401 1,468,386 1,580,787
1. g AA g% 18,241 1,248,354 1,266,595
7}, 8w 7] Hg-odn) 620—-09 | 1,266,595,0009 — <714>1,248,354,0009 = 18,241 1,248,354 1,266,595
2. AHg w7 el n) A 4 94,160 220,032 314,192
7} Fstw 620-11 263,562,0009 — <717>210,032,000d = 53,530 210,032 263,562
B TSI 620-11 50,630,0009 — <7174>10,000,0004 = 40,630 10,000 50,630
A A A AN 996,694 22,744,802 23,741,496
st A A A 996,694 22,744,802 23,741,496
B A S A NA 996,694 17,368,542 18,365,236
1. AAFSA 68,575 11,423,678 11,492,253
7}, e 68,575 476,333 544,908
1) A4 68,575 476,333 544,908
7 FrA L 1 (=24 420-03 [10,550,000¢9 x6.54 = 68,575 68,575
2. FFAANA 66,670 0 66,670
ZF w3 A () 26,770 26,770
1) Al7dn] 26,770 26,770
7H A% 420-03 [200,0004) X 133.85m= 26,770 26,770
. ER T A 39,900 39,900
1) AAdn] 39,900 39,900
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AU S = Ay 7179 of| Ak <8 3t A
7 =629 (30%) 420-03 |26,220,0009 x 14 = 26,220
W) M-I (10E) 420-03 |13,680,0009 X 14]= 13,680
3. AR ANA 2,198,548 2,472,457
7} A7 () oA 685,304 794,699
1) A1AH] 656,292 765,687
7h) F-QbAld 1 420-03 |21,879,0009 x5 = 109,395
b (A, &) 33t 62,514
1) A1AH] 62,514
7H X% 420-03 |138,0009 X 123m= 16,974
) Aszkz 420-03 |138,0009 X 330m= 45,540
t} AP =g A 102,000
1) A1AH] 102,000
7H Xz 420-03 |600,0009 X 70m= 42,000
W) EXs 420-03 |600,0009 X 100m= 60,000
4. F-FAANA 562,523 873,895
7}, A EEE 178,922
1) A]4dn] 178,922
7hH HoEsx4d 420-03 |103,0009 x 36m'= 3,708
W) Astx 420-03 |103,0009 X 120m'= 12,360
) 5% 420—03 |103,0009 X 450m'= 46,350
b WEx 420-03 |103,0009 X57.4m'= 5,912
up) WAk 420-03 103,000 X 86.5m'= 8,910
uh) WAbE 420-03 |103,0009 X 140m'= 14,420
A Az 420—03 [103,0009 X 36.4m'= 3,749
op) Yz 420-03 |103,0009 X 89m'= 9,167
ZH 8% 420-03 [103,000¢ X 68m'= 7,004
2 FAkx 420-03 [103,0009 x71.2m'= 7,334
7 #HAR= 420—-03 |103,000¢ X 146m'= 15,038
Eh) A E 420-03 |103,0009 X 190m'= 19,570
) JEFa 420-03 |103,0009 X 74m'= 7,622
hH AP 420-03 [103,0009 x123.6m'= 12,731
) XA AT 420-03 |103,0009 X 49m'= 5,047
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N AEzHEY A
7187 YRR G nSA 9 (9] - ")
74 o) 1=
gopzg 22| B3| 2% NESIE == BERE 2457 | AR | g
(R 12,450 12,450
1) A4 12,450 12,450
7h WA (A1) 420-03 |415,0009 X 30m= 12,450 12,450
o S A (2 9]) 120,000 120,000
1) Al4dn] 120,000 120,000
7H Az 420—03 [200,000€ X 300m= 60,000 60,000
) #HARE 420-03 |200,000€ x300m= 60,000 60,000
5. A7 A2 NA 220,240 185,349 405,589
7} R AAlAd 220,240 220,240
1) A1AH] 220,240 220,240
71 F-_bAld AL (750KW) 420-03 |220,240,0009 x 14} = 220,240 220,240
6. YFAFNA (A=) 55,928 0 55,928
7F R EE 20,600 20,600
1) A1AH] 20,600 20,600
7h WAk = 620—-11 [103,000€ X 200m'= 20,600 20,600
o ¥z 35,328 35,328
1) A1AH] 35,328 35,328
71 A== 620—11 |92,000¢ X 384m'= 35,328 35,328
ZEAnt 1,009,220 4,425,758 5,434,978
WEPP AR 1,000,000 3,658,979 4,658,979
A5 1,000,000 2,534,867 3,534,867
THAANLEE Y 1,000,000 2,534,867 3,534,867
. S A A E 1,000,000 2,410,215 3,410,215
7h sk A @ dF e YA A 1,000,000 2,189,316 3,189,316
1) A1AH] 509,900 2,051,186 2,561,086
7 ehpis4z) 420-03 |43,000,0009 X 14]= 43,000 43,000
W) e Eo|E 420-03 |150,000,000¢ x 14 = 150,000 150,000
oh) oF 2] 7 W= 2 A 420-03 |153,500,0009 x 121 = 153,500 153,500
2}) o] FAl 3t 420-03 |57,400,0009 X 12 = 57,400 57,400
up) 5l 2l of 420-03 |106,000,000¢ x 14 = 106,000 106,000
2) vlFy] 490,100 490,100
70 SHAZAE (VR7] 71 9115%) 430-01 |14,750,0009 X 16%= 236,000 236,000
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7‘(5]71]1 T‘;—]—ﬂ }\]_%—]LHO:] E__/H]E_ A =71 =7} 7] 3l ])\]-oﬂ S 7_-”
A]"ﬁ A]"ﬁ = = = pul T 60 m e} = H
W) A A DA (F8]7]12112F) 430-01 |12,400,0009 x 13%&= 161,200 161,200
th A A (Ho] B 9)4%) 430-01 |12,500,0009 X 5%= 62,500 62,500
2}) A AL (KB 045 430-01 |6,080,0009 x 5% = 30,400 30,400
71& 9,220 766,779 775,999
71229 9,220 387,411 396,631
71 -] 9,220 387,411 396,631
1. 71#2+%9 73] 5,220 179,499 184,719
7} AREE A A 5,220 22,070 27,290
1) 748 430—01 [350,0009 x1270= 4,200 4,200
2) 3ol &y o) E 430—01 |510,0009 x274= 1,020 1,020
2. 7|etX 429 4,000 32,652 36,652
7}, A Eokyd A2 4,000 32,652 36,652
1) v]F7-440] 4,000 4,000
7H A7) &4=7] 430-01 |1,500,000¢ x 1t}= 1,500 1,500
) Az 430-01 |2,000,000¢ x 1t} = 2,000 2,000
o =23 7] 430-01 |500,000¢ x 1= 500 500
98,452 2,203,245 2,301,697
H] 98,452 2,203,245 2,301,697
Q7| 98,452 2,203,245 2,301,697
=22} 98,452 2,203,245 2,301,697
Z 4 7H] 98,452 2,203,245 2,301,697
1. 2SF5F84aA 98,452 2,203,245 2,301,697
7F nFAFEARIA 98,452 1,563,487 1,661,939
1) B AA§ = 320-12 |227,798,0009 — <7]1%>129,346,000¢ = 98,452 129,346 227,798
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